Exam Preparation Exercise 

Based on Group Assignment #2 Hypothetical

Try to identify how each of the following facts, taken separately, would affect your analysis of the Meyer v. Harbaugh problem:

1.  Meyer had just put his traps out and this was the first wolverine he caught.

2.  In the prior two years, Meyer had trapped over 40 wolverines, none of which broke the traps or got free of them. 

3.  Meyer engraved his name on each of his traps.

4.  The poison Meyer applied to the traps can be expected to kill an average wolverine in ten hours.

5.  Wolverines caught by one leg in traps frequently gnaw off the leg and survive for months or even years.

6.  Meyer smeared the poison on the traps six months prior to the events in question.

7.  The chain that broke was thinner than the ones Meyer used to anchor the rest of his traps.

8. The distance from the place where the trap had been set up to the edge of Harbaugh’s land is one-third of a mile.

9.  The traps, chains, and poison used by Meyer are sold together in a kit.

10.  Farmers on five nearby farms used the same type of traps as Meyer.

11.  Forty-five minutes elapsed between when the trap snapped shut on the wolverine and when Harbaugh shot it. 

12.  Nine hours elapsed between when the trap snapped shut on the wolverine and when Harbaugh shot it. 

13.  The wolverine was unusually small.

14.  The wolverine was unusually large.

15.  The traps used by Meyer were marketed as traps to use for catching rats.

